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import gmpy2

p = gmpy2.mpz(473398607161)#¥]4H1k
q = gmpy2.mpz(4511491)
e = gmpy2.mpz(17)

phin=(p-1) * (q-1)
d = gmpy2.invert(e, phi_n)
print ("private key:")

print (d)
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if name
E en(sys argv)_@
exit (1)
ex =20
=) for i in range(l, len(sys.argv), 2):
a = sys.argv[i]
b = sys.argv[i + 1]
= if a = "-t':

o ex = 1nt (b)
=i elif a == "-&':
encoded = authcode (b,  'ENCODE'", expliry=ex)

- print encoded

=i elif a == "-d':
decoded = authcode (b explry=ex)
print decoded
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% if operation == "'DECODE':
return result[26:]

#1f not result[0:10].isdigit() -or -int(result[0:10]) ==-0 o0or
int(result[0:10]) - - int(time()) ->-0:
#if result[l0:26] == md5(result[26:].encode('utf-8"') +

keyb) .hexdigest () [0:16]:
#return result[26:]

¥ return "'
# else:
# return- "'
# else:
¥ return keyc + -base6d.b6dencode (result)
if. name == " main ':
E if len(svs.aragv) < 3:
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